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Multiple Choice Questions

If the initial arm rotates 70° in clockwise direction, then in which quadrant will the terminal arm lie ?
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What is the value of cosec 45°?
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Solve the following
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Prove the following
cos?0 (1 + tan’0) = 1

If sin 0 = }—g, find the value of cos 0, (0 is an acute angle)

Answer the following

For a person standing at a distance from a church the angle of the elevation of its top is measure 45°. Find the height
of the church.

If tan0 = ?_1 then find the value of sec6.

Solve the following
Prove the following.

(secB + tanB) (1 - sin B) = cos0

Prove the following.
secO (1 - sinB) (secO + tanf) = 1
Answer the following

Two building are in front of each other on either side of a road of width 10 meters. From the top of the first building,
which is of 30 meters of height the angle of elevation of the top second is 45° what is the height of the building ?

veosee X —1 1

cosec X +1  sec X +tan X

Answer the following

I+sin A _ 1+sin A+cos A
cos A 1+cos A—sin A

sinO—cosO+1 _ 1
sinf+cos—1 sec O —tan 0

Prove the following




